SAP ABAP table V TOIGS {Generated Table for View}
V TOIGS-CLIENT = T000-MANDT

TOO0O

MANDT [CLNT (3)]

TOO06

MANDT [CLNT (3)]

MSEHI [UNIT (3)]

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

T173

MANDT [CLNT (3)]

VSART [CHAR (2)]

TOIGEG

CLIENT [CLNT (3)]

EV_GROUP [CHAR (4)]

e 0..N
V_TOIGS-VOLA UOM = T006-MSEHI
V_TOIGS-VOLC_UOM = TO06-MSEHI %;%T
V_TOIGS-VOL UOM = TO06-MSEHI 0.V
e T T T T - -~ -7 /
/
V_TOIGS-WGT UOM = TO06-MSEHI !
=~V TOIGS-BWART = T156 BWART 0N
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0-N V TOIGS-EV GROUP = TOIGEG-EV GROUP  0-N
V TOIGS-INPGP = TOIGS2-INPGP  O.N
V TOIGS-FKART = TVIF-FKART  0..N
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TOIGS2

CLIENT [CLNT (3)]

INPGP [CHAR (2)]

TVTF

MANDT [CLNT (3)]

FKART [CHAR (4)]

TVTK

MANDT [CLNT (3)]

SHTYP [CHAR (4)]




